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Warm-Up Questions: Y=@)¢+@

1. Determine the equation of the line with slope 3 and y-
intercept 2.
m =~
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Ex. 1 Write the equation of the line given that it passes

through (1,5) and (4,2). :
g(xt Yo X2, Y2) vy A0
Step 1:  Calculate the slope (m) using formula m ==—*—
m: 2-5 203 (‘4,’2_‘) X2 T X 9run
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Step 2:  Substitute the slope (m) and one of the points
(x,y) into y = mx + b to solve for y-intercept (b).

Chodse edtha ot 3

= | —mMmYX+b
J73  Be-i(D+b
m.._—( 4\ a1\

Step 3:  Write the equation with slope (m) and y-intercept (b).
The x and y stay as variables since they change along

the line. A= -\ b= G
C.gwbulo
o ys X+
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E 2 Write the equation of the line that passes through (-2,3)

)((1 . 8). X Ny
Step 1: Find slope (m) gtep 2: nd -inicsces (w(n)
=Y (-2,2) ), b) e ¥:3
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Step 3: Wrte in Y=MXt

\{'.. X *—- 5
Ex. 3 Write the equation of the line that passes through (3,1)
nd (9,-3).
Step 1: <°1
N\"\f‘_z"\‘l - (3 ‘)
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M= -3-| : -tL
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Step 3:
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